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Directions for the gquestions 1-2:

A sentence or-a-part of a sentence followed by four alternatives words has been

e i T

given. Select the word ﬁ'am the given alternatives which could substitute the

same so as to communicate the same meaning.

1. A remedy for all diseases :
(A) Panacea (B) Antiseptic
(C) Antibiotic . (D) Drug

2. To make a wrong interpretation of someone’s words :
(A) Misunderstand (B) Misnomer
(C) Mistake (D) Misconstrue

Directions for the questions 3—4 :

Study the diagrams below and indicate which one of the choices gives the valid
conclusion.

DS

No Horses are Dogs.
Some Cats are Horses.

(B) All Horses are Cats.
Some Cats are Dogs.

(C) All Dogs are Horses.
All Horses are Dogs.

(D) Some Cats are Dogs.
Some Dogs are not Horses.
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(A) No Rivers are Taps.

No Taps are Bowls.

(B) All Rivers are Bowls.

No Taps are Rivers.

(C) No Bowls are Taps.

All Bowls are Rivers.
(D) Some Rivers are Taps.
No Rivers are Bowls.
Directions for the questions 5-6 :

A word followed by four alternative words has been given. You are to select the

alternative word which is almost opposite to the meaning of the word given in

question.
~ SRR D
(A) Dissent (B) Harmony
(C) Contlict (D) Admonish
6. Spurious :
(A) Duplicate (B) Dissipate
(C) Misty (D) Genuine
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7. If the following letters are arranged 1n the reverse alphabetical order starting
with Z and every alternate letter is removed from the series, then which letter
will lie in the centre of the resulting series ?

Sl CHETPE R 6w ] A
M N O P Q R S 5 3 U \Y% W
X X Z

(A) N (B) NoroO

() MeorQ (D) M

8. How many times you will write the numeral 2 if you write all the numbers from

201 to 300 ? |

(A) 9 (B) 20

(C) 100 (D) 119

Directions for the questions 9—10 -

In each of the questions 9-10, four alternative spellings of a correct English
A

word marked as A, B, C, and D are given. One of these alternatives is correct.

You are to mark the correct alternative.

9. (A) mysterius (B) misterious
(C) mysterious (D) mysterous

10.  (A) pronounciation (B) pronunciation
(C) pronounceation (D) pronunciation

I1.  How many times 3’s in the following series are preceded by 6’s and followed
by 2°’s ?
156 327 263 0. . 362 576 328

(%) 2 (B) 3

(C) 4 (D) 5

MRET P.TO.



MRET

12.  There are five houses ABCDO in a row. A is on the right side of B and left side
of C. O-1s on the right side of A, B is on the right side of D. Which house is
in the middle ?

. _ - Y
w -'rfﬂ""\".'-'ifttf-*- -

(A) O s (B) A

(C) B (D) D

3. How many different colours are required to paint the following figure such that

no two adjacent regions have the same colour ?

O

(A) 4 35 3

©) 2 S s

#

Directions for the questions 14—15 :

Homophones are words that sound the same but have different meanings. For

question 14-15, choose the correct word to complete the question.

14. I paid two hundred rupees for the

(A) Fair (B) Fare
(C) Fire | (D) Far
= F | A.V. Ramachandran wrote the to Bhaskar’s book.
(A) Foreword (B) Forward
(©) Fﬁrwo:ft;l (D) Foreward
6
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16. Carefully examine the pattern, and then choose which pair comes next

43 18 8 37 24

M Bl
P e T =T,

(A) 12 23 i B) 9 17

(C) 11 21 (D) 11 23

7. Find out amongst the four alternatives as to how the pattern (X) would appear

when the transparent sheet is folded at the dotted line.

________________________

(X) (1) (2) (3) (4)

(A) 1 (B). 2

LB e (D) 4

Direction for questions 18—19 :

Read the following passage carefully and answer the questions that follow. Identify
and indicate your choice by selecting (4), (B), (C), or (D).

A few minutes ago, walking back from lunch, I started to cross the street when I
heard the sound of a coin dropping. It wasn’t much but, as I turned, my eyes caught

the heads of several other people turning too. A woman had dropped what appeared
to be a coin of fifty paisa.

The tinkling sound of a coin dropping on pavement is an attention-getter. It can be
nothing more than a penny. Whatever the coin is, no one 1ignores the sound of it. It
got me thinking about sounds again.

We are besieged by so many sounds that attract the most attention. People in a city
like Delhi seldom turn to look when a fire engine, a police car or an ambulance comes

-
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screaming along the street. When I’m in Delhi, I’'m a Delhite. I don’t turn either. Like
the natives, I hardly hear a siren there.

At home 1n rn.y little"t6Wn in Haridwar, it’s different. The distant wail of a police car,
an emergency vehicle or a fire siren brings me to my feet if I'm seated and brings me

to the window 1f I'm 1n bed.

It’s thff-quietest sounds that have most effect on us, not the loudest. In the middle of
the night, I can hear a dripping tap a hundred yards away through three closed doors.
I’ve been hearing little creaking noises and sounds which my imagination turns into
footsteps in the middle of the night for twenty-five years in our house. How come I

never hear those sounds in the daytime ?

[’m quite clear in my mind what the good sounds are and what the bad sounds are.
I’ve turned against whistling, for instance. I used to think of i1t as the mark of a happy
worker but latelv I’ve been associating the whistler with a nervous person making

compulsive noises.

18. The sound of the dropping coins makes people ..................

(A) think of money
(B) look at each other
(C) - pay attention to it

(D) stop crossing the street

19. How does the writer feel about sounds in general ?

(A) They make him feel at home.

(B) He thinks they should be 1gnored.
(C) He believes they are part of our lives.

(D) He prefers silence to loud noises.
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Directions for the question 20 :

Identify the logical diagrams that represent the given logical propositions.

g = W
e eminr il g i,

20.  All laptops are computers.

Cﬂmputf:i‘s Computers  Laptops
(A) Laptops (B)
Computers Laptops
(©) + Laptops (D) Computers
# _2 :
21. The trace of the matrix 1S
3 T
(A) 2 (B) 5
823 12 (D) Not defined
i b
£ + ou
22. If u=sin| 223 then x —+ y@_u 1S equal to
\J; +\/§ J Ox ~ Oy

(A  —u (B) %Siﬂ u
1
(C) Etanu (D) None of these
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23.  Which of the following is not a valid octal number ?

(A) 231 (B) 876
Iy 135 BT (D) 452
. l—cos2ax .
24. - Lim - IS equal to

x=0 ] —cos2bx

a b
(A) h (B) .

a’ 2a
(C) n2 (D) 3

25. Which among the following is not a convex set ?

o @
o o

© o,
o

26. If X follows Poisson distribution with parameter, A, then the modes of X

darc
(A) A—-1 and A (B) A+1 and A <1
) ad sl (D) A and 2A

10
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27. If the failure time density function of a system follows exponential distribution

with parameter A, then the reliability of the system will be,

(A) E—-lt b s . b i g { L - (B) 1 3 e-—l[

| o S8 ) -

28. (A54B) = (?),

(AY 122513 (B) 315221
(C) 512451 (D) 154215
113 41
20 Themankof 11113 31 s
ShEEE ¢
-8 B) 1
oy (D) 3

30. What Boolean function does the following circuit represent at the output ?

B, D,
A AI e T ke SR
/ C E
/
F
(A) A+ (F-(B+C)D-E)
B) A+ (F-(B-C+ D-E))
(C) A-(F+(B +C):-D-E)
M) A-(F+(B+C)- (D +E))
11
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31. The probability density curve of a normal distribution 1s symmetric about its :

(A) Mean (B) Mean + S.D.

(C) Meaﬁ e D - (D) None of these

32. Coefficient of correlation is

(A) Arithmetic mean of the regression coefficients
(B) Geometric mean of the regression coeflicients

(C) Harmonic mean of the regression coefficients

(D) None
33. Letd...... . Z_are independent standard normal random variables, then the
random variable Z2+Z *+ .. ... + Z * follow :

(A) t-distribution
(B) F-distribution
(&) Chﬂiqu uare distribution

(D) Normal distribution

2 3
3N 38 y=1+x+'§?+§+ ..., then n" derivative of y(y ) is equal to
(A) O B) 1
) v (D) None of these

35. Rolle’s theorem 1s associated with his name. He is

(A) An English mathematician
(B) German mathematician
(C) French mathematician

(D) Russian mathematician

12
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36. The “c’ of the mean value theorem for the function f(x) = x(x—2), when a = 0,

b=3/2 is
(A3 3™ BN« (B) 1/2
) 32 (D) 1/4

37. For the curve y*(1 + x) = x*(1 - x), the origin is a
(A) Node (B) Cusp
(C) Point of inflexion (D) None of these

38. At the end of phase-I in a two phase simplex method if one or more artificial

vectors appears in the basis at a positive level then;

(A) The problem has no feasible solution
(B) The problem has unbounded solution

(C) The problem has unique optimum solution

(D) None of the above

39.  Which of the following is not correct ?

(A) Inan M/M/I queueing system the arrivals take place according to Poisson
and the service time is exponentially distributed.

(B) The necessary condition for the existence of the steady state solution

In a queueing system is p = 1, where p is the traffic intensity of the
system.

(C) If the arrival processes follows Poisson the inter-arrival time follows

exponential.

(D) Given the steady state probability of a system the transient solution can
casily be obtained.

13
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40.  If % is the rate of arrival in a system and W & L denote the expected waiting
time and the expected numbers of units in the system, then

(A) W = ALwrssis - - | (B) W= AL
(C) L>WA (D) L < WA

41. Anﬁual demand for an item is 12100 units. Ordering cost is Rs. 2000 per order

and the holding cost is Rs. 10 per unit per annum. What is the economic order
quantity ?

(A) 2200 (B) 2100

(C) 2000 (D) 2300

42. What will be the output of the following code ?
for( = 0; j <= 2; jt4) |
for(k = 0; k <= 2; k++) {
g if j == k)
cont << "1";

else

cout << "0";

A 111811181
B) 100110111
(C) 001010100
M) 100010001

14
MRET



43.

44 .

45.

MRET

Consider the following code

if(number >= 0)
if(number > 0)
cout << "Number is positive";

else

cout << "Number is negative”;
What will be the output if number 1s equal to 07
(A) Number is positive
(B) Number is negative
(C) Number is positive Number is negative

(D) Nothing is displayed

There are threc members: X, y and z; in a committee. Issues are to be decided

¥

by a simple majority and a member says ‘yes’ to vote in favor and “no” otherwise.

A question will be decided ‘yes’ if any one of the following 1s true:

x and y say “yes”, x and z say “yes’,

y and z say “yes” or all three X, y, z say Yyes .
Which of the following Boolean expression represents the above problem ?
(&) X290 (B) xy +xyz+yz

(C) xyt+xz+t+yz (D) - xy + xz + xyz

If X ~ N(p, 62), then P[(p—-30 <X <p+ 3c] is equal to

(A) 0.6826 (B) 0.9973
(C) 0.9544 (D) 0.9843

15
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46. If the frequency distribution of a given data 1s skewed towards its left and the
mean of the distribution is 40, then the modal value of the data will be —

(A) : .Erq ual to""*ﬁtﬁff}f' e

(B) More than 40

(C) Less than 40

(D) Cannot be determined

47. 1f X is a Poisson random variable such that; P(X=2) =9 P(X=4) + 90 P(X=6),
then the variance of the random variable X 1s:

(A) 4 (B) 3
) 2 (D) 1
b PL 2 ¥ ey
48. The @rdi:r of the differential equation 1+[£§] :Ex_z is given by
(A) 1 (B) 2
iz 3 (D) 4

49. The curve x = acos, y=asinb 1s
(A) Circle (B) Ellipse

(C) Parabola (D) None of these

50. If z = log(x® + y?), then x~22;+ y@ 1s equal to

(A) 0O (B) 1
<€) 2 (D) 3

_ 16
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If A=|a, »» a,;| then, which of the following is true

g \ i m-rir-.-.,-;'!_l:é:- -
s AT

33
(A) 3, A, + 4,7, + 430, = A
(B) ), A,y 4y Ay, t A Ay = A

(€) a;, Ay, + 43 Azz T ag, A33 =9

|

(D) 4, A]l T &, A32 ¥ i, Ny, = A

The production department of a company requires 3600 kg of raw material for
manulacturing a particular item per year. It has been estimated that the cost of
placing an order is Rs. 36 and the cost of carrying inventory is 20% of the

investment in the inventories. The price is Rs. 10 per kg. Then the EOQ will
be

(A) 360 kg#i:,)er order
(B) 350 kg per order
(C) 300 kg per order
(D) None of the above

Given an LPP Max z = 3x, — 2x, subject to X, *Xx,5 1, 2x, + 2x, > 4 and

X,» X, 2 0. Using graphical method we have

(A) unbounded solution
(B) unique optimum solution
(C) infeasible solution

(D) multiple optimum solution

17
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54. Consider the constraint -
X + 3y — 4z < 7

Find the vzlue-ofithe slack variable (s) associated to this constraint for the point

AL D
(A) s =8 B) s=6
(C) s =0 (D) s = —]

55. What would be printed, when the following code segment is executed
X =155 while (x < 10){ printf(x); x--}

(A) Nothing (B8) 15

(C) 14 (D) None of the above

56. Given the following truth table, which operation is represented ?

INPUT OUTPUT

> A B C D

0 0 0 0

0 0 1 1

0 l 0 1

0 I 1 1

1 0 0 |

1 0 l 1

] 1 0 1

1 1 1 1

(A) AORB OR C
(B) A XOR B OR C
(C) AORE XOR C

(D) None of the above

18
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57.  The time that elapses from the moment a program is submitted until it is completed
by the computer system, is termed as

(A) Throughput . ecasize (B) Tumaround time

(C) Response time (D) None

58. For a distribution, B, is found to be 4. The distribution is

(A) Mesokurtic (B) Platykurtic

(C) Leptokurtic (D) Nothing can be said

59. If X is a random variable with m.g.f Mx(t) then

[. X may have no moments although its m.g.f exists.
I[T. Mx(t) will 2lways exist.

III; Mx(t) exists, yet the m.g.f does not generate the moments.

(A) I and II are true
B) Only II is true
(C) 1I and III are true

(D) I and III are true

60. In a convex set a linear function attains its extrema at

(A) Vertex (B) Boundary point
(C) Interior point (D) None of these
i S .
6l. Théesenies 1-—4+ <% 1S
Z & 4
(A) Convergent (B) Divergent
(C) Oscillatory (D) None of these
19
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62. Itan3 x dx is equal to

.1 t oy tremienglail
(A) Etan x — logsecx +c

1
(B) Etar_l_‘2 X + logsecx +c

(C) log sn:cx—%tanz X + ¢

(D) logsec x —tan?x + ¢

-
s

63. J‘ ‘I—xldxz 1s equal to

]

]
(A) 0 B) 3
{5 o (D) None of these

64. If z=f(x,y) is a homogeneous function of degree n then

A xgk -d—Z——z“
(A) dx ydy

dz
B) x—+y—=0
m T e
o e
(©) dx y4:?Iy
oo W o 2
) dx ydy n

20
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65. There are three coins in a box. One is a two headed coin, another is a fair coin,
and the third is a biased coin that comes up heads 75 percentage of time. When
one of the.three coins is selected at random and flipped, it shows heads. What

5 = Na- -
F q"m"}‘nf:.!i’!-* ¥

is the probability that it was the two headed coin ?

(A) 1/9 (B)_ 2/9

(C) 1/3 (D) 4/9

66. In an M/M/1 queueing system the arrivals take place with an average rate of
2/hr and the mean service time 15 mins. then the probability of having an empty

system 1s
(A) 0.333 (B) 0.451
(C) 0.500 (D) 0.152

67. Which of the fo&lbwing IS not an assumption underlying the fundamental problem
ot BEOCQ T

F-_'|'l

(A) Demand is known and uniform
(B) Lead time is not zero
(C) Holding cost per unit time is constant

.(D) Stock-out (shortages) are not permitted

68. Re-order level of an item is always

(A) Less than or equal to its minimum stock
(B) More than or equal to its minimum stock
(C) More than its maximum stock

(D) Less than its maximum stock

21 |
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69.

70.

1%

£ 5 5

73,

The decimal equivalent of the binary number 1000000000000000

(A) 32768 (B) 32678

C) 3T o ' (D) None

If x =-1,y=0, z=1, the value of the expression x<y> 2z 1s
(A) O (FFalse) (B) 1 (True)

(C) Incorrect expression (D) None

If x=1; y=1 and z = 2; then after the execution of the following code segment,

the values of variables z and y respectively are
If (x == y){{z++;y--;} else --z ;}
(A) 2,8 )83

) 2. | D) 3,0

"

The Normal distribution is limiting form of Binomial distribution if
(A) n >0, p—>0
B) n—> o, p—>gq
(C) n—» o0, p—>

(D) n — oo, neither p nor g is small

Let X and Y are independent Poisson random variables with means m , and m_

respectively, then X +Y follows Poisson distribution with parameter

(A) m .m, (B) m + m,

(C) m -m, (D) m/m,

22
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74.  Which of the following is incorrect 2

(D) None of the above

75.  The volume of the solid generated by revolving the astroid x23 + y23 = g2
about the x axis is equal to
106 2
(B) 105
C 32 s
©) 105

(D) None of these

76.  The surface of the sphere obtained by revolving the

circle X = r cos 0,
y = r sin 0 about x axis is equal to

4_,
(A) 4 72 (B) e
(C) 4nr3 D) =nr
L3
MRET
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77. The curve y = x> — 3x? — 9x + 9 has a point of inflexion at

(A) x =-1 | B) x=1
() xR (D) x = 3
| d
78. The solution of the differential equation d—y+i = x” under the condition that
X %

y=1when x=1, is
(A) 4xy =x>+3
(B) 4xy Ry £3
(C) By x*+3
(D) 4xy =y? + 3
79. Ife, B, v are the roots of a cubic equation witha +B+y=1, > + B2 +y2=2
and a’ + 3* + ¢y’ = 3, then a* + B* + y* equals
(A) O

(B) 4

25
5 =

D) 14+ 2* + 3

80. In case of perfect correlation, the two lines of regression Y on X and X on
15

(A) are perpendicular to each other
(B) are parallel to each other
(C) coincide

(D) 1intersect each other at an angle other than 90°

24
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If F(n ,n)) is a F-variate with n, and n, d.f. then F(n,, n ) is distributed as

1

(A) oy vanate
F(sz H[) P ViAol
(B) 1 1at
variate
F(n,.n,)
1 .
(©) variate

F(nl+n2,n3)

1
(D) F(n,,n, +“z) variate

For the inventory model with planned shortages, the optimal order quantity
results in

(A) Annual holding cost = annual ordering cost.
(B) Annual holding cost = annual backordering cost.
(C) Annual ordering cost = annual holding cost + annual backordering cost.

(D) Annual ordering cost = annual holding cost — annual backordering cost.

The volume of the solid generated by the revolution of the cycloid

x = a(0 +sinB), y = a(1 - cosb) about x-axis, is

(A) n’a? (B) 2n2a3
(L) n°a’ 1)) 2x%a’

o d’y
The particular integral of the differential equation yrov + 4y = 16x e** is

X
1 ix
(A) x(e*—eY) B) —e
Sk
(C) (Bx?+4x+2)ex D) (2x—1)e*
25
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85. Which of the following is not an Operating System ?
(A) MS-DOS
(B) MicrosoftWindows
(C) Linux

(D) Internet Explorer

86. The is the pictorial representation of the logic of the program using
special symbols.

(A) Algonthm (B) Flowchart

(C) ER ciagrams (D) Pseudocode

87. Which is the largest unit of storage among the following ?

(A) Terabyte (B) Megabyte
(C)- Kilobyte (D) Gigabyte
z*" —1
88. If z= cosO + 1sin0, then — equals
z +1
(A) 1tan nb (B) tan n0
(C) cotnb (D) 1cotn®

89. A function f(x,y) defined on domain D 1s a homogeneous function of degree 2
if

(A) f(Ax,Ay) = MMf(x,y) VL eR
(B) f(x*, y7) = (f(x, y))*
(C) 1(2x, 2y) = 2f(x, y)
(D) f(x*, y?) = 2f(x, y)

26
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: ¢ Xxsinx _
90. The value of the mtegral[ = gX 18
s 1+c08" X
‘;'E2 nz
B ayeileids
(A) 5 (B) 3
T[z
B R (D) =°
o 3
‘ 3yt du du
5| . . uz]ggx a2 then X—+y— equals
X+Yy ax -4y
(A) O (B) e*
(C) 1 | (D) logu

92. The number of persons arriving in an M/M/1 queueing system has
(A) Erlang distribution
(B) Exponential distribution
(C) Binomial distribution

(D) Poisson distribution

93. Which of the following 1s not considered to be a part of inventory holding
costs ?

(A) Opportunity cost of blocked capital

(B) Maintenance cost of warehouse used for this inventory

(C) Obsolescence

(D) Cost of postage and telephone for placing order

27
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94. In an M/M/2 queueing system if A =4 and p = 3, then the traffic intensity p of
the system 1s

(AY~-0.67. o it~ - (B) 1.33

(3093 (D) None of the above

95.  Which is the following is not a magnetic storage media ?
(A) Magnetic tapes (B) Hard Disk
(C) DVD (D) Floppy

96. It is possible to move from one page to another on the World Wide Web with

a single click of mouse using

(A) text processing packages
(B) spreadsheets
(C)' databases

e

(D) hyperlinks

97. How many times will the body of loop be executed ?

X 3

2

y = 30;
while(x <= y){

X = y/X;

cout<< x; }
(A) O (B) 10
() 13 (D) infinite
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98. Let X be a random variable with probability density function

 c(1-x?), -1<x<]
e -w-gf- A ) iy ( )
0 otherwise
the value of ¢ 1s —
(A) 1/4 (B) 1/2
(C) 3/4 (D)) -1

99. The Moment Generating Function (MGF) of the sum of independent random
variables i1s —

(A) Sum of individual MGF

(B) Difference of individual MGF
(C) Product of individual MGF
(D) None of the above

i

}/ ;
100. If u, = .L. " tan"0 dO then u +u _,equals

.5 8 (B) n

© V (D)

n—1

101. Which of the following is not implied when average inventory is Q/2, where Q
is the order quantity ?

(A) An entire order quantity arrives at one time.
(B) The previous order quantity is entirely depleted when the next order arrives.
(C) An order quantity is depleted at a uniform rate over time.

(D) Backorders are permitted.
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102. The general solution of the differential equation (3x? + 4xy)dx + (2x2 + 2y)dy = 0.
(IA) 3x3 + 4x2y + 2xy* + y:=cC

B) x+ WYH y=c

il % R
(C) EK > 22y A Iy Ty =
(D) None of the above

103. Consider the following linear programming model :

Max X + XE

Subject to :

X ®X,
X

X

2

X:ﬂ Xz

2
|
3
0

P

Y

This linear programming model has
(A) alternate optimal solution

(B) unbounded solution

(C) redundant constraint

(D) infeasible solution

104. A redundant constraint is eliminated from a linear programming model. What
effect will this have on the optimal solution ?

(A) Feasible region will decrease in size
(B) Feasible region will increase in size

(C) A decrease in objective function value

(D) No change
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105. The number of constraints in the dual problem of a linear Programming problem
(primal) 1s

(A) equal to number.of variables in primal
(B) equal to number of constraints in primal
(C) less than number of variables in primal

(D) more than number of constraints in primal

106. In a flowchart the symbol <<___—> is used for
(A) Decision (B) Processing
(C) Input/output (D) Start/stop

107. The solution of the differential equation
xsinyds +(x*Fljeosydy =0, y(l)=n/2
(A) (x2+ 1)sin’y = 2
(B) —x coéy +(x*+ 1 )Jsmy =2
() (X ¥ ll)ri'siny + (x? + 2)cosy = 3

(D) None of the above

108. If X (1= 1,2,... ,n) are n independent normal variates with mean p. and variance

2 :
R e ST A S
c’, then zi=1 ( ‘ ”'J 1S a

O.

1

(A) Chi-square variate with 1 d.f
(B) Chit-squarrf: variate with n d.f
(C) Chi-square variate with n—1 d.f
(D) Chi-square variate with n—2 d.f

109. The mode of F-distribution is

(A) Equal to unity I (B) Greater than unity

(C) Less than unity (D) Not defined

31
MRET PTO.



MRET

110. For the EOQ model, which of the following relationships is incorrect ?

(A) Asthe order quantity increases, the number of orders placed annually

~ decreasess
(B) As the order quantity increases, annual holding cost increases.
(C) Asthe order quantity increases, annual ordering cost increases.

(D) As the order quantity increases, average inventory increases.

111. F-distribution is

(A) Highly negatively skewed (B) Moderately positively skewed
(C) Moderately negatively skewed (D) Highly positively skewed
VAR R :f(:f}/) then xgli + y—(zl}1 equals
it dx dy
(A) O (B) 1

) % (D) vy

113. The hexadecimal equivalent of the binary number 10101110101101 is

(A) AEB4 (B) AEAD

(C) 2BAD _ (D) 2BB4

114. Reliability of a component

(A) can have a value between 0 and 100
(B) can have a value between —1 and +1
(C) can have a value between —0.1 and 0.1

(D) can have a value between 0 and 1
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117.

118.
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120.
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The failure time distribution of a component is F(t) = 1 — e Then its failure
rate 1s

(A) 02 | | (B) 5
(C) 0.5 b2 (D) 10

v
il

If A is a square matrix of order n with |A| # 0 then |adj A| equals

(A) [A] (B) |AJ"
C) A" (D) 1/]A]
o (2—2] . equals
da
(A) 1 (B) 0
2 /T s
(<) e ) S

Cayley — Hamilton theorem states that

(A) Every square matrix can be reduced to normal form
P‘, - - - . - - -
(B) Every square matrix satisfies its characteristic equation

(C) Every square matrix can be written as sum of a symmetric and a skew
symmetric matrix

(D) Not every square matrix is invertible

Reneging refers to customers in a queue who

(A) do not join a queue

(B) switch queues

(C) join a queue but leave before getting served

(D) join a queuc but are dissatisfied

A family has two children. What is the conditional probability that both are boys
given that at least one of them is a boy ?

(A) 0 B) 0.25
(C) 0.33 _ D) 0.50
33
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